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6.2 - Arithmetic Sequences

A sequence where there is a common difference, d, between consecutive
terms. The same value is added or subtracted to a term to generate the next

term. U 42
Y
eg.3,5,7,9 11, ... d=_
51,-3,-7,.. d= -y
0,5, 10, 15, 20,.. d=%"
3 -+
Notice the pattern: 1 v 4 /“i> 7, 10, 13

1, 1+1(3),1+2(3),1+3(3), 1+4(3) a=1 d=3
a, a+1d, a+2d, a+3d, a+4d

L \

n = Q< (T\—\\)oq always 1 less than term #

Arithmetic Sequence Formula

t.=a+(n-1)d

where a is the first term and d is the common difference
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This means find the general formula which

Ex. 1 Determine t, for each. works to find any term in the sequence.

Must be simplified.
a) 7,3,-1,-5, ... b) -5,-3,-1, 1, ...
O\:? «Eﬂ:@*(ﬂ*hd A =-> chrOk“L(”“S&
A=y 340Ny d=2 = -5 (- 1(?)
~7. L/r) Y =-S5+ AN -2

Ex. 2 Determine the # of terms in each sequence.

a) 2,5,8, ..., 155 b) 1, 1 -3,...,-199 )
=2 © eu\:ow(n—l\)é\ _—1 E 0\*(/\ >< 2
d =3 =2+ (1-0(3) —2n+?

L-3-2n)
D 2 ~197= 2 ;m
ISL =34 1?07? -

=n
n =352
'.‘S—’Z‘\‘WMS SOl 7LC//’VZS

Ex. 3 Insert two numbers between 17 and 59, so that the four numbers
form an arithmetic sequence.

N

*d

Q? “'d
/? —!—3&: S‘Ci
%CJ =4 w’:.l_ljr .
d =1 el
Ly =311y
':L/S\
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4. Determine, a, d, and t,, for each arithmetic sequence.

a) t,=13 , ty;=39 Jcn-’a*(”‘md
l ) < US'\«\? ‘Eallg
(5 derm
(-9 3=an (4-0C)
+, |3 = Q-+ [
110239
154 =26
L= axn-0d
= ZF4(n-1Y2)
b) t10=-67, t43=-298 i
L2 L)S;v\%‘lt_',_,z
334, ﬂm:O\'L(m_(\ d n=43
LF+33d =-29 2970 w(y3-1)=7) gy =2
324 = - 2> 298 =0 -0 T

F 298 =a -9y

é\,\:a-(-(f\«I\Q{
7-L-r\‘\ ‘LI+(/\‘0<\Q—\
-4 ‘Dthr?
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p. 385 #3abth, 4b¢, 6, 7, 9ac,
10ac, 11ac, 13, 15, 20, 21




